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[ 20,378 0 20,378
Jl 868,525 858,473 52
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=it/ =Y 6,503,209 5,714,535 788,674
= 342,217 329,484 12,733
[ 20,378 0 20,378
Jl 858,525 858,473 52
= 914,318 900,605 13,713
Al 4,367,771 3,625,973 741,798
e = 1,188,99% 1,181,717 7,278
= 3,290 23,863 N20,573
= 20,378 0 20,378
Jl 756,343 756,043 300
= 37,313 46,232 A8,919
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7,800 7,500 300
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Al 15,000 30,000 A15,000
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= 19,504 0 19,504
= 9.7% 9,748 8
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1,289,002 1,289 1,289 0
= 0 784 T84
= 784 0 784
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= 1,620 1,500 120
Al 3,780 3,500 280
=4 Z23Y 2l 130,580 21,080 9,500
201 B2t 44,960 42,960 2,000
2 ZZ2| 38,000 36,000 2,000
O =22 HABL 23,000 21,000 2,000
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12,000, 0002 2,000 10,000 2,000
401 AIEHIL 2] 22,500 15,000 7,500
01 Al&HI 22,500 15,000 7,500
OHAZSDY DI L HHRALLZA
7,500,000% 7,500 0 7,500
ENES Y 38,080 22, 180 5,900
201 B2t 34,480 22, 180 2,300
2 ZZ2| 24,600 22,300 2,300
OREXZ ELOIOf WA
250,00021 144 3,500 1,200 2,300
405 T S| 3,600 0 3,600
01 RHIUSEH S| 3,600 0 3,600
OXahrBa Mol 7L
1,200, 00024+3CH 3,600 0 3,600
P OIS 24X 520 1,102 582
=2 260 551 ~291
= 78 165 ~87
Al 182 386 A204
301 LB 520 1,102 £580
2 260 551 A291
= 78 165 A&7
Al 182 3% A204
14 JIEH2 &3 520 1,102 1582
OGPRIZ S} QHE A X2
520, 0002 520 1,102 A58
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= 78 165 ~87
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< 1,608 1,280 328
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301 LetEAZ 7,568 8,880 N1,312
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< 1,892 2,220 N328
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11 ARHIXIRS 688 2,000 N1,312
Osgol d2us 41 s XA
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= 344 1,000 AB5%6
< 172 500 N328
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S0 u=ssd 7,550 4,400 3,150
307 e12+0l1d 3,150 0 3,150
02 LB HAHE X 3,150 0 3,150
O=sE AEHEI|HAESA BHal S XA
! 350,000 x90%+ 10 3,150 0 3,150
SN 243t X 34,740 17,800 16,940
307 212+0I1& 34,740 17,800 16,940
02 QI B A E A 29,740 12,800 16,940
OsEXTAtel 2203 &I XA
6,470,000& 6,470 0 6,470
Odeds A= ot X
6,470,000 6,470 0 6,470
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4,000,000 4,000 0 4,000
sgelol & A 35,000 25,000 10,000
307 el2+old 35,000 25,000 10,000
04 QIZSHAAIH B X 35,000 25,000 10,000
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sSeLS & dgatd X4 52,100 72,000 19,900
HARERNE ==AE Sdl N3 28,100 48,000 19,900
402 RI”FXH=01 A 28,100 48,000 219,900
01 QIZEXHE AL 2 (REHITH ) 28,100 48,000 19,900
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EESIENE 850,270 892,060 A41,790
2 78,926 26,000 52,926
= %,565 136,000 £40,415
Al 675,759 730,060 54,301
2ol YlE UM 2 47,000 47,000 0
2 23,500 23,500 0
Al 23,500 23,500 0
201 Yer2e| 20,000 20,000 0
2 10,000 10,000 0
Al 10,000 10,000 0
01 AfR 22l 17,500 20,000 £2,500
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Al 1,250 2,500 A1,250
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14 JIEl2 A2 40,000 0 40,000
OH8Y MAH SAHAZ X2
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B2t SAHH A2 133,000 308,000 A170,000
= 40,000 91,000 51,000
Al 93,000 212,000 A119,000
301 LBHRFI 0 308,000 308,000
= 0 91,000 £91,000
Al 0 212,000 £212,000
14 JIEF2 413 0 308,000 308,000
OBl SXHH X 0% 0 308,000 308,000
= 0 91,000 £91,000
Al 0 212,000 £212,000
40 QI2IXF2 0 & 133,000 0 133,000
= 40,000 0 40,000
Al 93,000 0 93,000
03 SI2RIEIAIH] 133,000 0 133,000
OBl SXHH X2 133,000,002 133,000 0 133,000
= 40,000 0 40,000
Al 93,000 0 93,000
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= 52,926 0 52,926
= 10,585 0 10,585
Al 24,69 0 24,69
301 LEBNEF 88,210 0 88,210
= 52,926 0 52,926
& 10,585 0 10,585
Al 24,699 0 24,699
14 JIEI2 A3 88,210 0 88,210
Odlg Jt3etd XI& 88,210,000& 88,210 0 88,210
= 52,926 0 52,926
= 10,585 0 10,585
Al 24,699 0 24,699
LSS X 444,942 444,942 0
= 45,000 45,000 0
T 106,582 106,582 0
Al 293,360 293,360 0
AEASE 23 13,105 13,105 0
201 2| 6,605 6,605 0
01 AtR2telt] 3,535 3,605 AT0
OJMAEHBAIAE AIBS
8,710& 43 35 105 AT0
02 3244l 3,070 3,000 70
OIMBEHIAAL ABR
8,710&+8& 70 0 70
edsy =4 272,402 236,850 35,552
= 26,266 36,850 A~ 10,584
= 20,470 20,699 A229
Al 225,666 179,301 46,365
MEold ZEHIE K& 14,000 7,000 7,000
= 4,200 2,100 2,100
Al 9,800 4,900 4,900
307 QI2HOI A 14,000 7,000 7,000
= 4,200 2,100 2,100
Al 9,800 4,900 4,900
02 QIRHHAAIHE X 14,000 7,000 7,000
Od=old 2EHIE N
1,400, 000 & *20ha*50% 14,000 7,000 7,000
& 4,200 2,100 2,100
Al 9,800 4,900 4,900
HI=sLIM X2 2,421 2,294 127
= 968 918 50
s 436 413 23
Al 1,017 963 54




A SI|I=HEH
A AL sHA HEHS ZUH LoH(sHHLd/5 - &)
el EEseY =4 (SH9 H2)
SA - BB C9I(B) - NIRAY - BES ol ko o 8 o HIRS2
307 2Ito1d 2,421 2,2% 127
= 968 918 50
< 436 413 23
Al 1,017 963 54
02 LB HANHEE 2,421 2,294 127
ORIISSXH XA
1,500,000 *3. 228na*50% 2,421 2,294 127
= 968 918 50
[ 436 413 23
Al 1,017 963 54
SIIEHIE XA (HEAY) 91,224 91,224 0
< 7,201 7,201 0
Al 84,023 84,023 0
307 2I2to1 0 91,224 N91,224
< 0 7,201 N7,201
Al 0 84,023 184,023
02 2IZHBYAIHE A 0 91,224 N91,224
ORJIZHIE S=2(H8) o0& 0 91,224 N91,224
< 0 7,201 A7,201
Al 0 84,023 184,023
402 QIF X201 91,224 0 91,224
[ 7,201 0 7,201
Al 84,023 0 84,023
03 2IZHRAETAIHHI 91,224 0 91,224
ORJIEHIE 22(H8) 91,224,000 91,224 0 91,224
< 7,201 0 7,201
Al 84,023 0 84,023
SIIZHE X (XM= 30,000 0 30,000
402 RIZERHZ01H 30,000 0 30,000
03 2IZHAETAIH I 30,000 0 30,000
ORJIEHIg S=(RAFIH
30,000,000 30,000 0 30,000
HEFsME ASEIHI(XH =0 14,000 0 14,000
301 LEIE NS 14,000 0 14,000
14 JIEt2d=3 14,000 0 14,000
Ozlgd setE IS=a|
700,000 x20H 14,000 0 14,000
EHEH XNIH 31,751 50,232 18,481
= 21,418 32,052 A10,634
< 3,101 5,453 N2,352
Al 7,232 12,727 Ab,495
307 212t01 & 0 50,232 AB0,232
= 0 32,052 A32,052
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A B HA(BIH) - ARANY - BES I8N Hws2
[ 0 5,453 ~5,453
Al 0 12,721 N12,727
02 2IZHB A E £ 0 50,232 N50,232
OE2MEHM K& o0& 0 50,232 N50,232
= 0 32,052 A32,052
(= 0 5,453 15,453
Al 0 12,727 N12,727
402 RIZERH20IH 31,751 0 31,751
= 21,418 0 21,418
< 3,101 0 3,101
Al 7,232 0 7,232
03 2IZHAETALHHI 31,751 0 31,751
OE2MEM K& 31,751,000 31,751 0 31,751
= 21,418 0 21,418
< 3,101 0 3,101
Al 7,232 0 7,232
SN M XI& (XM Z=01) 2,906 0 2,906
402 RIR”EXH=201 A 2,906 0 2,906
03 2IZHRAETAIHHI 2,906 0 2,906
OE2HEM K2 A 2,906,000 2,906 0 2,906
o ZdE ML 882,383 848,154 34,229
= 139,225 140,736 21,51
) 102,182 102,430 N248
< 77,268 89,135 A11,867
Al 563,708 515,853 47,855
SN 49,610 48,260 1,350
201 fer=3| 14,610 13,260 1,350
01 AtR2t2|HI 14,610 13,260 1,350
OJt=ax2 SHISXt 450,000 %52 2,250 900 1,350
=Y oY & A A4EF 7Y S (F&) (A 207,891 210,076 12,185
Al GlEeE PYRIY)
= 136,120 137,631 21,511
< 16,555 16,480 75
Al 55,216 55,965 NT49
201 LEeH2 | 19,064 14,740 4,324
= 9,531 7,369 2,162
< 2,859 2,210 649
Al 6,674 5,161 1,513
2 3522l 9,064 4,740 4,324
OSHzA: 2 232
9,064,000 9,064 4,740 4,324
= 4,531 2,369 2,162
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= 103,232 105,215 21,983
< 9,906 10,358 N5
Al 37,065 38,876 A1,811
01 M= Hl 150,203 154,449 N4,246
OUlg=Al & JIMs S 22X
140,003,000 140,003 144,249 24,246
= 98,132 100,115 21,983
< 8,376 8.828 N5
Al 33,49% 35,306 A1,811
301 LEENS 26,328 28,591 12,263
= 17,208 18,898 21,690
< 1,945 2,067 N2
Al 7,175 7,626 2451
14 JIE2 4= 26,328 28,591 12,263
O4 2=24det - 2 Mg X3
1,862,000& 1,862 1,500 362
= 558 450 108
< 262 210 52
Al 1,042 840 202
OO ESE 28 DPlolger AZAAL
22,088,000 22,088 24,512 A2,424
= 15,462 17,158 21,696
< 1,325 1,471 N146
Al 5,301 5,883 »582
OF4xte S stz T
2,378,000& 2,378 2,376 2
= 1,188 1,188 0
< 38 3% 2
Al 832 832 0
OAl AIZF HIZ XI& o0& 0 203 2203
= 0 102 A102
< 0 30 A
Al 0 71 AT
HE - SH - IS Alg 28 XE 47,200 86,840 39,640
& 14,160 26,052 A11,892
Al 33,040 60,788 N27,748
101 QI24H| 16,338 29,561 13,223
[ 4,902 8,870 13,968
Al 11,436 20,691 29,255
M IRIMZZAS 2 16,338 29,561 n13,223
Os&E4 o] 16,338 29,561 n13,223
=1t 86,0302 x2% +60! 10,324 19,271 8,947
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[ 3,097 5,782 N2,685
Al 7,221 13,489 16,262
oRsRESE 86,030 x2& 15 2,581 4,818 Nn2,237
= 774 1,446 AB72
Al 1,807 3,372 N 1,565
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& 72 180 A108
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o wESH| 30,000 x2 2 x22 120 300 2180
< 6 0 aNa'!
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oxEN2RSE
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Al 452 677 N225
odli2E= 13,909,680 *10.795% 1,502 2,637 A1,135
< 451 791 2340
Al 1,051 1,846 AT7%5
oL QFIIQABEE
13,909,680 *3. 545%+12.81% 64 106 AG2
< 20 R A2
Al a4 74 A0
201 LEeH2 | 10,000 20,000 10,000
[ 3,000 6,000 /3,000
Al 7,000 14,000 27,000
01 At22t2lt] 5,000 10,000 5,000
Os&xL 29| 5,000,000& 5,000 10,000 5,000
< 1,500 3,000 21,500
Al 3,500 7,000 23,500
02 S3=gl 5,000 10,000 5,000
Os&dza 3324H| 5,000,000 5,000 10,000 5,000
< 1,500 3,000 21,500
Al 3,500 7,000 23,500
206 MH=HI 5,862 7,279 1,417
[ 1,758 2,182 N424
Al 4,104 5,097 2993
01 Mz bl 5,862 7,279 A1,417
Ostzax 22 23 € A4S
5,862,000& 5,862 7,279 A1,417
< 1,758 2,182 N4
Al 4,104 5,097 £993
302 OI=HMHHEAS 15,000 30,000 15,000
< 4,500 9,000 24,500
Al 10,500 21,000 10,500
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(2 BIRIAM AT E 77,89 45,190 32,700
OBEASSIL I K&
145,400,000 50 72,700 40,000 32,700
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dsy 035 M 39,320 %,320 40,000
301 LerEa 17,000 77,000 40,000
14 JIEH2 &S 117,000 77,000 40,000
OSTHHELALZ(TR) X
4,000217 500 30,000 20,000 10,000
OFLH5I} HHEALZ XIS
3,00081%27,000 81,000 51,000 30,000
AT &0t 1,500 0 1,500
301 Let=rE3 1,500 0 1,500
14 JIEH2 &S 1,500 0 1,500
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405 THAHESHI 25,500 5,500 20,000
01 AL =S F=H 25,500 5,500 20,000
ogUsIIA 7Y 20,000,000 20,000 0 20,000
SO et W= 10,000 10,000 0
< 3,000 3,000 0
Al 7,000 7,000 0
201 eer23y| 1,000 1,000 0
< 300 300 0
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OsgJIH ¢dus 24 500,000 500 1,000 2500
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Al 350 700 A350
2 352484l 500 0 500
OsgIH 2eEs =2 500,000 500 0 500
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Al 350 0 350
206 TH=HI 7,650 9,000 A1,350
S 2,295 2,700 AN405
Al 5,355 6,300 2945
01 M= Hl 7,650 9,000 21,350
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[ 2,2% 2,700 2405
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OAISI & okXtel BtA=E Al=H| X
8,000,000 8,000 0 8,000
< 2,400 0 2,400
Al 5,600 0 5,600
SIS 22l 29 250,869 233,604 17,265
201 er23| 14,209 12,897 1,312
02 S3=gHl 3,609 2,297 1,312
ORIISEESA RANE=t|
2,000,000 2,000 1,000 1,000
ORIISEESA 2HY S4l 8=
517,000 517 337 180
ORIIs=2ESA (CIV MEZ
1,092,000 1,092 960 132
202 04l 1,000 500 500
01 =LH0d 1,000 500 500
O=LH04H] 1,000,000 1,000 500 500
301 LEIEN S 30,000 24,000 6,000
14 JIEt2 8= 30,000 24,000 6,000
OR&KIISE L2l X2
6,000,000 6,000 0 6,000
307 2I2to1 22,000 12,000 10,000
04 RIZFHAIAIZSE = 20,000 10,000 10,000
ORJIS= LA 20,000,000 20,000 10,000 10,000
405 THHF S 33,053 33,600 NB47
01 Tt =S F=HI 33,053 33,600 547
ORJls8 = - X8 g 7
32,052,930 32,053 33,600 A1,547
ORIISSESA Lt ¢
1,000,000 1,000 0 1,000
FARIISS LAH X (=1) 2,400 2,250 150
= 1,200 1,125 75
[ 360 337 23
Al 840 788 52
301 EtE NS 2,400 2,250 150
= 1,200 1,125 75
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